
9mm x 1

4mm x 1

13mm x 2

2(LW004) x

PS054 x 2

2LR005 x

2LR006 x

1LR063 x

1PS448 x

1PS425 x

1LR009 x

PS065 x 4

PS414 x18

FS067 x 12

FB014 x 6

28

10

FW021 x

FN080 x

PS419 x 12

Manufactured by Rhino Products Ltd in the United Kingdom

Aluminium Ladder Fitting Kit, Daily H1 2015-LK31_b ( 1 of 5 )



LR005 x 2
Ladder Side Bracket, Form A

LR006 xLadder Side Bracket, Form B
2

(INLK31) x
Customer Instruction Sheet(s)

1

2
Mounting Rubber, Universal Ladder Bracket

PS054 x

FK1047 x
Aluminium Ladder Standard Bolt Kit 1 (M8x30)

1

2
Ladder Front Mounting Bracket, Universal

LW004 x1
Ladder Rear Spreader Plate, Universal

LR009 x1
Universal Internal Ladder Pad

PS425 xPS448 xDaily H1 - Top Internal Pad
1LR063 x

Daily H1 - Top Internal Spreader Plate
1

Printed Label, Kit Box
1LA038 x

PA377 x 1
Customer Instruction Sheet(s)

(RPI002) x

1

AL Fitting Kit Box x4

Manufactured by Rhino Products Ltd in the United Kingdom

Aluminium Ladder Fitting Kit, Daily H1 2015-LK31_b (2 Of 5 )

1.

2. 3.



M8 x 30

4mm (x 2)

9mm (x 2)

M8 x 20

Manufactured by Rhino Products Ltd in the United Kingdom

Aluminium Ladder Fitting Kit, Daily H1 2015-LK31_b ( 3 of 5 )

4. 5. 6.

7. 8. 9.



4mm (x 4)

M8 x 20

9mm (x 4)

M8 x 20

M8 x 30

(x8)

(x4)

Manufactured by Rhino Products Ltd in the United Kingdom

Aluminium Ladder Fitting Kit, Daily H1 2015-LK31_b ( 4 of 5 )

10. 11. 12.

13. 14. 15.



(x12)

(x4)

(x16)

Manufactured by Rhino Products Ltd in the United Kingdom

Aluminium Ladder Fitting Kit, Daily H1 2015-LK31_b ( 5 of 5 )

16. 17. 18.


